BEHA 542036 8 17 HORIRERER

(1) KLEFHDRRZEZP £TFDE
FK=FL=2cm H'5.
EG:KL=3: 1

KDFP:PI=1: 2
LENDSTPIIIH=2 1 3h'5
J:MH=2:5
JI=2cm TIH 5, MH=5cm
DM=6—5=1cm

(BZ) 1cm

(2) GHOPRZ Q &ELFET,
=8FENJ E=8F NQS BRI
N, ZOLEIZ1 : 2 TIHS SQ=4
cm
=8 GQS &=aM GTH OB
5GQR:QH=1 : 1 KD
TH=4X2=8cm
TD=8—6=2cm
COEEBE AEDRRZERETDE
Bl :IG=1:1DHDb5
RE=4cm AR=2cm
=8 ARO E=8FE T ODIIE[m
BA=AFICIZDdMDT,

AO=3cm
(8BZ) 3cm

, D
|
|
! A M
|
L rl
i G
i -
| L
-
I i
| ”
|
! -
| g
|
-
E | .5
]
S H
" ]
5
g N
Al [
> for A -
AR
J"‘- ” -
P i) >
’I
I G
|
-1
il
"
i
iy fh
0. |
-
| -
i #
[
1
| 1
| [
+ !
F1LY i
e C I
| u
i a4 S
| L] il
| '*‘ i
| % i
| \ '
i | .,\-} " [
i i RBRE- i
J i L 1
! i Pl !
¢ EI |'|| i
i # % i
i ;h:"":"‘"_'_""l“_‘
I - L ] -
] o } L) ERJ |
b S L, Y (PR ol
e i
% 3 L]
> ) @
= =l



